Homework #1
MEAM 502 1999 Winter

Solve the following boundary value problem

-Au=2 in Q
u=0 on T

by the finite difference method by applying a coordinate transformation method, where Q is
a domain in the two-dimensional space, shown in the figure, and I is its boundary. To do
this, you may use MATLAB or MATHEMATICA.

circular

elliptic

Hint Examine the coordinate transformation
a=(1-n)+201+n)
b= %(1-17)+ 2(1+n)
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from the square domain —1<¢&,n < +1, and also

X=acosd = (3+n)co%(1—f)§ |

y = bsind = %(5+ m)sinéﬂz (1—5)@



